A & 0ol & AF S H Al A

SA: BHD
= 50 X3
2t 50 = 0EXSS
g 511 = J2XE3S (S &3)
SRR 0 ol &F o oy o CmEES
ES Al 5,804,810 5,980,535 A175,725
=S, 5,804,810 5,980,535 A175,725
50 X3 5,804,810 5,980,535 A175,725
510 3 DEx3S 4,637,450 4,637,450 0
511 FLEXZS 4,637,450 4,637,450 0
51101 =1EX= 3,971,010 3,971,010 0
O2HF R ISItA HZAY 28 0& 0 900,300 A900,300
O2YIF HEIA MNP AR (ZIIHIRY) 822,750 0 822,750
O2YARI HEIIA M2 AT (AN 2ERI) 69,300 0 69,300
OAMIIH HBHEX XIS
Z& 115,350,000 115,350 107,100 8,250
520 Al - SHIEAZS 1,167,360 1,343,085 A175,725
521 Al - SHIEEZS 1,167,360 1,343,085 A175,725
521-01 Al - EHIEXES 1,167,360 1,343,085 A175,725
ORI HEIIA H2ZAS Z2E 0 0 270,090 A270,090
O2YARI HEIA HZAIS (EIIHIXL) 246,825 0 246,825
O2YARI HEIA HZAIS (A ZER]) 20,790 0 20,790
OAEIAH MBoHEX XI&ALS 23 23,89%5,000& 23,895 21,420 2,475
ORIohx E=sAS(HIIsE8X, HI|SEX, HIISE
X, ®I|0IEXH) Z& 236,000,000 236,000 402,800 166,800
OYSHIIS 471 - M2 Ale)
23 33,075,000& 33,075 42,000 28,925




